UTMS 2006-26

 $October 13,\ 2006$ 

A remark on law invariant convex risk measures

by

Shigeo Kusuoka



# UNIVERSITY OF TOKYO

GRADUATE SCHOOL OF MATHEMATICAL SCIENCES KOMABA, TOKYO, JAPAN

## A Remark on Law Invariant Convex Risk Measures

Shigeo KUSUOKA \*Graduate School of Mathematical Sciences The University of Tokyo Komaba 3-8-1, Meguro-ku, Tokyo 153-8914, Japan

JEL classification : C65, G19 Mathematics Subject Classification (2000): 60B05

#### Abstract

The author gives a simple proof of the representation theorem for law invariant convex risk measures which was obtained by Kusuoka [6], Frittelli-Gianin [3] and Jouini- Schachermayer-Touzi [5].

### 1 Introduction

The idea of coherent risk measures has been introduced by Artzner, Delbaen, Eber and Heath [1]. Then Föllmer and Scheid [4] extended this notion to convex risk measures. Let me introduce the definition of convex risk measures first.

Let  $(\Omega, \mathcal{F}, P)$  be a probability space. We denote  $L^{\infty}(\Omega, \mathcal{F}, P)$  by  $L^{\infty}$ .

**Definition 1** We say that a map  $\rho : L^{\infty} \to \mathbf{R}$  is a convex risk measure if the following are satisfied.

- (1)  $\rho(0) = 0.$
- (2) For any  $c \in \mathbf{R}$  and  $X \in L^{\infty}$ , we have

$$\rho(X+c) = \rho(X) - c.$$

(3) If  $X \ge Y$ ,  $X, Y \in L^{\infty}$ , then  $\rho(X) \le \rho(Y)$ . (4) For any  $\lambda \in [0, 1]$ , and  $X, Y \in L^{\infty}$ ,

$$\rho(\lambda X + (1 - \lambda)Y) \leq \lambda \rho(X) + (1 - \lambda)\rho(Y).$$

Also, we introduce the following notion.

**Definition 2** We say that a convex risk measure  $\rho : L^{\infty} \to \mathbf{R}$  is law invariant, if  $\rho(X) = \rho(Y)$  for any  $X, Y \in L^{\infty}$  with the same probability laws.

 $<sup>^{*}\</sup>mathrm{partly}$  supported by the 21st century COE program at Graduate School of Mathematical Sciences, the University of Tokyo

Let  $\mathcal{D}$  be the set of probability distribution functions of bounded random variables, i.e.,  $\mathcal{D}$  is the set of non-decreasing right-continuous functions F on  $\mathbf{R}$  such that there are  $z_0, z_1 \in \mathbf{R}$  for which  $F(z) = 0, z < z_0$  and  $F(z) = 1, z \geq z_1$ . Let us define  $Z : [0, 1) \times \mathcal{D} \to \mathbf{R}$  by

$$Z(x, F) = \inf\{z; F(z) > x\}, \quad x \in [0, 1), F \in \mathcal{D}.$$

Z(x, F) is a version of  $F^{-1}(x)$ .  $Z(\cdot, F) : [0, 1) \to \mathbf{R}$  is a non-decreasing and right continuous function, and the probability distribution function of Z(x, F) under the Lebesgue measure dx on [0, 1) is F. We denote by  $F_X$  the probability distribution function of a random variable X.

For each  $\alpha \in (0, 1]$ , let  $\rho_{\alpha} : L^{\infty} \to \mathbf{R}$  be given by

$$\rho_{\alpha}(X) = -\alpha^{-1} \int_0^{\alpha} Z(x, F_X) dx, \qquad X \in L^{\infty}.$$

Also, we define  $\rho_0: L^{\infty} \to \mathbf{R}$  by

$$\rho_0(X) = -Z(0, F_X) = -ess.inf \ X \qquad X \in L^{\infty}.$$

Then it is easy to see that  $\rho_{\cdot}(X) : [0,1] \to \mathbf{R}$  is a non-increasing continuous function for any  $X \in L^{\infty}$ .

Let  $\mathcal{M}_{[0,1]}$  be the set of probability measures on [0,1].

Then combining the results by [6], Frittelli-Gianin [3] and Jouini- Schachermayer-Touzi [5], we have the following.

**Theorem 3** Assume that  $(\Omega, \mathcal{F}, P)$  is a standard atomless probability space. Let  $\rho$  :  $L^{\infty} \to \mathbf{R}$ . Then the following conditions are equivalent. (1) There is a subset  $\mathcal{A}$  of the set  $\mathcal{M}_{[0,1]} \times \mathbf{R}$  such that

$$\sup\{b; (m,b) \in \mathcal{A}\} = 0$$

and

$$\rho(X) = \sup\{\int_{[0,1]} \rho_{\alpha}(X)m(d\alpha) + b; \ (m,b) \in \mathcal{A}\}, \qquad X \in L^{\infty}.$$

(2)  $\rho$  is a law invariant convex risk measure.

Our purpsoe of the present paper is to give a simple and direct proof for this Theorem.

**Remark 4** One can easily prove that

$$\rho_{\alpha}(X) = -\inf\{E[gX]; \ g \in L^{\infty}, \ 0 \leq g \leq \frac{1}{\alpha}, \ E[g] = 1\}, \quad X \in L^{\infty}$$

for any  $\alpha \in (0, 1]$ . Here we do not have to assume that  $(\Omega, \mathcal{F}, P)$  is atomless. So we can easily check that  $\rho_{\alpha}$ ,  $\alpha \in [0, 1]$ , are law invariant convex risk measures. Therefore it is easy to prove that the condition (1) implies the condition (2) in Theorem 3.

#### 2 Preparations

Let  $N \geq 2$ . In this section, we consider a probability space  $(\Omega_N, \mathcal{G}_N, P_N)$  such that  $\Omega_N = \{1, \ldots, N\}$ ,  $\mathcal{G}_N$  be the set of subsets of  $\Omega_N$ , and  $P_N(\{\omega\}) = \frac{1}{N}$ ,  $\omega \in \Omega_N$ .

Our aim in this section is to prove the following.

**Theorem 5** Let  $\rho : L^{\infty} \to \mathbf{R}$ . Then the following conditions are equivalent. (1) There is a subset  $\mathcal{A}_0$  of the set  $\mathcal{M}_{[0,1]} \times \mathbf{R}$  such that

$$\sup\{b; (m,b) \in \mathcal{A}_0\} = 0$$

and

$$\rho(X) = \sup\{\int_{[0,1]} \rho_{\alpha}(X)m(d\alpha) + b; \ (m,b) \in \mathcal{A}_0\}, \qquad X \in L^{\infty}$$

(2)  $\rho$  is a law invariant convex risk measure.

By Remark 4, it is sufficient to prove that the condition (2) implies the condition (1). So we prove the converse. Let  $\rho$  is a law invariant convex risk measure and let  $\mathcal{C}$  be a subset of  $L^{\infty} \times \mathbf{R}$  given by

$$\mathcal{C} = \{(a,b) \in L^{\infty} \times \mathbf{R}; \ \rho(X) \ge -\sum_{i=1}^{N} a(i)X(i) + b \text{ for all } X \in L^{\infty}\}$$

Since  $\rho$  is a concave function defined in  $L^{\infty}$  and  $L^{\infty}$  is finite dimensional, we see that

$$\rho(X) = \sup\{-\sum_{i=1}^{N} a(i)X(i) + b; \ (a,b) \in \mathcal{C}\}, \qquad X \in L^{\infty}.$$
 (1)

Moreover, we have the following.

**Proposition 6** For any  $(a,b) \in C$ , we have the following. (1)  $a(i) \ge 0$ , i = 1, ..., N. (2)  $\sum_{i=1}^{N} a(i) = 1$ .

*Proof.* Let  $e_i \in L^{\infty}$ , i = 1, ..., N, such that  $e_i(i) = 1$ , and  $e_i(j) = 0$ ,  $j \neq i$ . Then we have for any c > 0

$$0 \leq -c^{-1}\rho(ce_i) \leq a(i) - c^{-1}b$$

Lettig  $c \to \infty$ , we have the assertion (1).

Note that for any  $c \in \mathbf{R}$ , we have

$$0 = -\rho(c) - c \le c(\sum_{i=1}^{N} a(i) - 1) - b$$

So we have for any c > 0

$$(\sum_{i=1}^{N} a(i) - 1) - c^{-1}b \leq 0 \text{ and } (\sum_{i=1}^{N} a(i) - 1) + c^{-1}b \geq 0$$

Lettig  $c \to \infty$ , we have the assertion (2).

Let  $\mathcal{S}_N$  be the set of permutations on  $\Omega_N$ . Then for any  $a \in L^{\infty}$ , there is a  $\sigma_a \in \mathcal{S}_N$  such that

$$a(\sigma_a(N)) \leq a(\sigma(N-1)) \leq \cdots \leq a(\sigma_a(1))$$

Then we have the following.

**Proposition 7** (1) For any  $(a,b) \in C$ , and  $\sigma \in S_N$ ,  $(a \circ \sigma, b) \in C$ . (2) Let  $(a,b) \in C$  and let  $m_a$  be a measure on [0,1] be given by

$$m_a(\{\frac{j}{N}\}) = (a(\sigma_a(j)) - a(\sigma_a(j+1)))j, \qquad j = 1, \dots, N-1,$$
$$m_a(\{1\}) = a(\sigma_a(N))N \quad and \quad m_a([0,1] \setminus \{\frac{1}{N}, \frac{2}{N}, \dots, 1\}) = 0.$$

Then  $m_a \in \mathcal{M}_{[0,1]}$  and

$$\max\{-\sum_{i=1}^{N} (a \circ \sigma)(i)X(i); \ \sigma \in \mathcal{S}_N\} = \int_{[0,1]} \rho_\alpha(X)m_a(dx), \qquad X \in L^{\infty}.$$

*Proof.* Let  $X \in L^{\infty}$ . Then it is obvious that random variables X and  $X \circ \sigma^{-1}$  has the same probability law. Therefore we have

$$\rho(X) = \rho(X \circ \sigma^{-1}) \ge -\sum_{i=1}^{N} a(i)X(\sigma^{-1}(i)) + b = -\sum_{i=1}^{N} a(\sigma(i))X(i) + b.$$

This implies the assertion (1).

Now we will prove the assertion (2). Let  $X \in L^{\infty}$ . Then there is an  $\tau_X \in \mathcal{S}_N$  such that

$$X(\tau_X(1)) \leq X(\tau_X(2)) \leq \cdots \leq X(\tau_X(N)).$$

It is easy to see that

$$X(\tau_X(k)) = N \int_{(k-1)/N}^{k/N} Z(x; F_X) dx, \qquad k = 1, \dots, N,$$

an so

$$\sum_{j=1}^{k} X(\tau_X(j)) = -k\rho_{k/N}(X), \qquad k = 1, \dots, N.$$

Then we have

we have  

$$\sum_{i=1}^{N} a(i)X(i) = \sum_{i=1}^{N} a(\sigma_a(i))X(\sigma_a(i))$$

$$= \sum_{i=1}^{N} (a(\sigma_a(N)) + a(\sigma_a(i) - a(\sigma_a(N)))X(\sigma_a(i)))$$

$$= a(\sigma_a(N))(\sum_{i=1}^{N} X(\sigma_a(i))) + \sum_{i=1}^{N-1} (\sum_{j=i+1}^{N} (a(\sigma_a(j-1) - a(\sigma_a(j)))X(\sigma_a(i)))$$

$$= a(\sigma_a(N))(\sum_{i=1}^N X(\sigma_a(i))) + \sum_{j=2}^N (\sum_{i=1}^{j-1} X(\sigma_a(i)))(a(\sigma_a(j-1) - a(\sigma_a(j))))$$
  
$$\ge a(\sigma_a(N))(\sum_{i=1}^N X(\tau_X(i))) + \sum_{j=2}^N (\sum_{i=1}^{j-1} X(\tau_X(i)))(a(\sigma_a(j-1) - a(\sigma_a(j))))$$
  
$$= -\int_{[0,1]} \rho_\alpha(X)m_a(d\alpha).$$

Note that

$$\sum_{i=1}^{N} a(\sigma_a \circ \tau_X^{-1}(i)) X(i) = \sum_{i=1}^{N} a(i) X(\tau_X \circ \sigma_a^{-1}(i)) = -\int_{[0,1]} \rho_\alpha(X) m_a(d\alpha).$$

So letting X = 1, we see that  $m_a([0,1]) = 1$ . These also imply the assertion (2). Now let

$$\mathcal{A}_0 = \{ (m_a, b) \in \mathcal{M}_{[0,1]} \times \mathbf{R}; \ (a, b) \in \mathcal{C} \}$$

Then we see from Equation (1) and Proposition 7, that the condition (1) is satisfied for this  $\mathcal{A}_0$ . This completes the proof of Theorem 5.

### 3 Proof of Theorem 3

By Remark 4, it is sufficient to prove that the condition (2) implies the condition (1).

Let  $\rho$  is a law invariant convex risk measure, and let

$$\mathcal{A} = \Big\{ (m,b) \in \mathcal{M}_{[0,1]} \times \mathbf{R} \; ; \; \rho(X) \ge \int_{[0,1]} \rho_{\alpha}(X) m(d\alpha) + b, \; \text{ for all } X \in L^{\infty}(\Omega) \Big\}.$$

Then it is sufficient to prove the following.

$$\rho(X) \leq \sup \left\{ \int_{[0,1]} \rho_{\alpha}(X) m(d\alpha) + b \; ; \; (m,b) \in \mathcal{A} \right\}.$$
(2)

Since  $(\Omega, \mathcal{F}, P)$  is atomless standard probability space, we may think that  $\Omega = [0, 1)$ ,  $\mathcal{F} = \mathcal{B}([0, 1))$ , and P is a Lebesgue measure on [0, 1). For any  $n \ge 1$ , let

$$\mathcal{F}_n = \sigma \{ 1_{[(k-1)2^{-n}, k2^{-n}]} ; k = 1, 2, \dots, 2^n \}$$

Then we see that

$$\mathcal{F}_1 \subset \mathcal{F}_2 \subset \mathcal{F}_3 \subset \cdots$$
 and  $\sigma \Big( \bigcup_{n=1}^{\infty} \mathcal{F}_n \Big) = \mathcal{F}.$ 

Let

$$\mathcal{A}_{n} = \left\{ (m, b) \in \mathcal{M}_{[0,1]} \times \mathbf{R} \; ; \; \rho(X) \ge \int_{[0,1]} \rho_{\alpha}(X) m(d\alpha) + b \text{ for all } X \in L^{\infty}(\Omega, \mathcal{F}_{n}, P) \right\}.$$

Then we have

$$\mathcal{A}_1 \supset \mathcal{A}_2 \supset \mathcal{A}_3 \supset \cdots \supset \mathcal{A}.$$

Note that  $\mathcal{M}_{[0,1]}$  is a compact subset of the dual space of  $C([0,1]; \mathbf{R})$  with weak \* topology. Since  $\rho_{\cdot}(X) : [0,1] \longrightarrow \mathbf{R}$  is continuous for all  $X \in L^{\infty}$ ,  $\mathcal{A}$ ,  $\mathcal{A}_n$ ,  $n = 1, 2, \ldots$ , are closed in  $\mathcal{M}_{[0,1]} \times \mathbf{R}$ .

**Proposition 8** Let  $\mathcal{A}_{\infty} = \bigcap_{n=1}^{\infty} \mathcal{A}_n$ . Then  $\mathcal{A}_{\infty} = \mathcal{A}$ .

*Proof.* Let  $(m,b) \in \mathcal{A}_{\infty}$ . Let  $X \in L^{\infty}(\Omega, \mathcal{F}, P)$ , and fix it. Let  $Y \in L^{\infty}$  be given by  $Y(\omega) = Z(\omega; F_X), \ \omega \in \Omega = [0, 1)$ . Since random variables X and Y have the same probability law, we see that  $\rho(X) = \rho(Y)$ . Let  $Y_n, n = 1, 2, \ldots$ , be random variables given by

$$Y_n(\omega) = Z(\frac{k}{2^n} -; F_X), \qquad \frac{k-1}{2^n} \le \omega < \frac{k}{2^n}, \ k = 1, 2, \dots, 2^n.$$

Then we see that  $Y_n(\omega) \downarrow Y(\omega)$ , for any  $\omega \in \Omega$ . Since  $(m, b) \in \mathcal{A}_n$ ,  $n \ge 1$ , we have

$$\rho(Y) \ge \rho(Y_n) \ge \int_{[0,1]} \rho_\alpha(Y_n) m(d\alpha) + b, \qquad \alpha \in [0,1].$$

It is easy to see that  $\rho_{\alpha}(\mu_{Y_n}) \uparrow \rho_{\alpha}(Y)$ , and so we have

$$\rho(X) = \rho(Y) \ge \int_{[0,1]} \rho_{\alpha}(Y)m(d\alpha) + b = \int_{[0,1]} \rho_{\alpha}(X)m(d\alpha) + b.$$

This implies that  $\mathcal{A}_{\infty} \subset \mathcal{A}$ . It is obvious that  $\mathcal{A}_{\infty} \supset \mathcal{A}$ , and so we have the assertion.

Now let us prove Theorem 3. For each  $W \in L^{\infty}(\Omega_{2^n}, \mathcal{G}_{2^n}, P_{2^n})$ , let  $U_n(W) : \Omega \to \mathbb{R}$ be given by

$$U_n(W)(\omega) = \sum_{k=1}^{2^n} W(k) \mathbb{1}_{[(k-1)2^{-n}, k2^{-n})}(\omega).$$

Then  $U_n : L^{\infty}(\Omega_{2^n}, \mathcal{G}_{2^n}, P_{2^n}) \to L^{\infty}(\Omega, \mathcal{F}_n, P)$  is bijective. Let  $\rho_n : L^{\infty}(\Omega_{2^n}, \mathcal{G}_{2^n}, P_{2^n}) \to \mathbb{R}$ be defined by  $\rho_n(W) = \rho(U_n(W))$ . Then it is easy to see that  $\rho_n$  is law invariant, convex risk measure and that

$$\rho_n(W) \ge \int_{[0,1]} \rho_\alpha(W) m(d\alpha) + b, \qquad W \in L^{\infty}(\Omega_{2^n}, \mathcal{G}_{2^n}, P_{2^n})$$

if and only if

$$\rho(X) \ge \int_{[0,1]} \rho_{\alpha}(X) m(d\alpha) + b, \qquad X \in L^{\infty}(\Omega, \mathcal{F}_n, P)$$

for any  $(m, b) \in \mathcal{M}_{[0,1]} \times \mathbf{R}$ . This observation and Theorem 5 show that

$$\rho(X) = \inf\left\{\int_{[0,1]} \rho_{\alpha}(X)m(d\alpha) + b \; ; \; (m,b) \in \mathcal{A}_n\right\}, \quad X \in L^{\infty}(\Omega, \mathcal{F}_n, P).$$
(3)

Let us take an arbitrary  $X \in L^{\infty}(\Omega, \mathcal{F}, P)$  and fix it. Let Y and  $\tilde{Y}_n$ ,  $n = 1, 2, \ldots$ , be random variables given by  $Y(\omega) = Z(\omega, F_X)$ ,  $\omega \in [0, 1)$ , and

$$\tilde{Y}_n(\omega) = Z(\frac{k-1}{2^n} \lor 0; F_X), \quad \frac{k-1}{2^n} \le \omega < \frac{k}{2^n}, k = 1, 2, \dots, 2^n$$

Then we see that

$$Z(x; F_{\tilde{Y}_n}) = \tilde{Y}_n(x) \uparrow Y(x-), \qquad x \in (0, 1),$$

and so we see that

$$\rho_{\alpha}(\tilde{Y}_n) \downarrow \rho_{\alpha}(Y) = \rho_{\alpha}(X), \quad n \to \infty, \qquad \alpha \in (0, 1].$$

Also, we see that

$$\rho_0(\tilde{Y}_n) = -\tilde{Y}_n(0) = -Y(0) = \rho_0(X)$$

So we see that  $\rho_{\alpha}(\tilde{Y}_n)$  converges to  $\rho_{\alpha}(X)$  uniformly in  $\alpha \in [0, 1]$ . Since  $\tilde{Y}_n \in L^{\infty}(\Omega, \mathcal{F}_n, P)$ , we see from Equation (2) that there exists  $(m_n, b_n) \in \mathcal{A}_n$ , for each  $n \geq 1$ , such that

$$\rho(\tilde{Y}_n) \leq \int_{[0,1]} \rho_\alpha(\tilde{Y}_n) m_n(d\alpha) + b_n + \frac{1}{n}.$$

Note that

$$0 = \rho(0) \ge \int_{[0,1]} \rho_{\alpha}(0) m_n(d\alpha) + b_n = b_n$$

and that

$$-||\tilde{Y}_{n}||_{\infty} = \rho(||\tilde{Y}_{n}||_{\infty}) \leq \rho(\tilde{Y}_{n}) \leq \int_{[0,1]} \rho_{\alpha}(\tilde{Y}_{n})m_{n}(d\alpha) + b_{n} + \frac{1}{n} \leq ||\tilde{Y}_{n}||_{\infty} + b_{n} + 1.$$

So we have

$$0 \ge b_n \ge -2||\tilde{Y}_n||_{\infty} - 1 \ge -2||X||_{\infty} + 1.$$

Since  $\mathcal{M}_{[0,1]}$  is compact, there are a subsequence  $\{n_k; k = 1, 2, \ldots\}$  and  $(m, b) \in \mathcal{M}_{[0,1]} \times \mathbf{R}$ such that

$$(m_{n_k}, b_{n_k}) \to (m, b), \quad n \to \infty, \qquad \text{in } \mathcal{M}_{[0,1]} \times \mathbf{R}.$$

It is obvious that  $(m,b) \in \mathcal{A}_{n_k}, k = 1, 2, \ldots$ , and so we see that  $(m,b) \in \mathcal{A}_{\infty}$ . Also we have

$$\int_{[0,1]} \rho_{\alpha}(\tilde{Y}_{n_k}) m_{n_k}(d\alpha) \to \int_{[0,1]} \rho_{\alpha}(Y) m(d\alpha).$$

On the other hand, we see that

$$\rho(\tilde{Y}_n) \geqq \rho(Y) = \rho(X)$$

So we see that

$$\rho(X) \leq \int_{[0,1]} \rho_{\alpha}(X) m(d\alpha) + b.$$

This proves that

$$\rho(X) \leq \sup\{\int_{[0,1]} \rho_{\alpha}(X)m(d\alpha) + b; \ (m,b) \in \mathcal{A}\}.$$

This completes the proof of Theorem 3.

## References

- Artzner, Ph., F. Delbaen, J.-M. Eber, and D. Heath, Coherent Measures of Risk, Math. Finance 9(1999), 203-228.
- [2] Delbaen, F., Coherent Risk Measures on General Probability Spaces, Preprint 1999.
- [3] Frittelli, M., and E. Rossaza Gianin, Law invariant cobvex risk measures, Advances in Mathematical Economics 7, 33-46(2005).
- [4] Föllmer, H., and A. Scheid, Convex measures of risk and trading constraints, Finance and stochastics, 6(2002), 429-447.
- [5] Jouini, E., W. Schachermayer, and N. Touzi, Law invariant risk measures have the Fatou property, Advances in Mathematical Economics 9, 49-71(2006).
- [6] Kusuoka, S., On law invariant coherent risk measures, Advances in Mathematical Economics 3, 83-95(2001).

Preprint Series, Graduate School of Mathematical Sciences, The University of Tokyo

UTMS

- 2006–15 Toshio Oshima: Commuting differential operators with regular singularities.
- 2006–16 Miki hirano, Taku Ishii, and Takayuki Oda: Whittaker functions for  $P_J$ principal series representations of Sp(3, R).
- 2006–17 Fumio Kikuchi and Xuefeng Liu: Estimation of interpolation error constants for the  $P_0$  and  $P_1$  triangular finite elements.
- 2006–18 Arif Amirov and Masahiro Yamamoto: The timelike Cauchy problem and an inverse problem for general hyperbolic equations.
- 2006–19 Adriano Marmora: Facteurs epsilon p-adiques.
- 2006–20 Yukihiro Seki, Ryuichi Suzuki and Noriaki Umeda: Blow-up directions for quasilinear parabolic equations.
- 2006–21 Yoshihiro Sawano and hitoshi Tanaka : A quarkonial decomposition of Besov-Morrey spaces and Triebel-Lizorkin-Morrey spaces.
- 2006–22 Victor Isakov, Jenn-Nan Wang and Masahiro Yamamoto: An inverse problem for a dynamical Lamé system with residual stress.
- 2006–23 Oleg Yu. Imanuvilov, Victor Isakov and Masahiro Yamamoto: New realization of the pseudoconvexity and its application to an inverse problem.
- 2006–24 Kazuki Hiroe and Takayuki Oda: Hecke-Siegel's pull back formula for the Epstein zeta function with a harmonic polynomial.
- 2006–25 Takefumi Igarashi and Noriaki Umeda: Existence and nonexistence of global solutions in time for a reaction-diffusion system with inhomogeneous terms.
- 2006–26 Shigeo Kusuoka: A remark on law invariant convex risk measures.

The Graduate School of Mathematical Sciences was established in the University of Tokyo in April, 1992. Formerly there were two departments of mathematics in the University of Tokyo: one in the Faculty of Science and the other in the College of Arts and Sciences. All faculty members of these two departments have moved to the new graduate school, as well as several members of the Department of Pure and Applied Sciences in the College of Arts and Sciences. In January, 1993, the preprint series of the former two departments of mathematics were unified as the Preprint Series of the Graduate School of Mathematical Sciences, The University of Tokyo. For the information about the preprint series, please write to the preprint series office.

#### ADDRESS:

Graduate School of Mathematical Sciences, The University of Tokyo 3–8–1 Komaba Meguro-ku, Tokyo 153-8914, JAPAN TEL +81-3-5465-7001 FAX +81-3-5465-7012